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1. Introduction
This pCR updates the Key issue #6: Edge services support across ECSPs. 
2. Reason for Change
Based on the business relationship between OP B and OP A, the EAS in OP A can be deployed by the OP B. Then the UE can obtain the edge computing service from the EAS in OP A to keep the service continuity.

Thus in such deployment case, when UE moves, there may be no suitable EAS for the user of operator B, and the most suitable EAS is in the OP A deployed by the OP B. To keep the service continuity, the EAS should be disocovered and continue to provide service for the UE of the OP B.

In the current specification, it is not clear how can T-EAS be discovered and determined in the Edge Node sharing case.
3. Proposal

It is proposed to agree the following changes to 3GPP TR 23.700-98 v1.0.1.
* * * First Change * * * *

4.22
Key issue #22: EAS discovery in Edge Node sharing scenario

Based on OPG.02 CR1001 Operator Platform Telco Edge Requirements, Edge Node sharing scenario has been identified in GSMA OPG.02 CR1001 Operator Platform Telco Edge Requirements clause 3.3.5.

The deployment case is as follows:

1.
OP B deploys application in the OP A (partner OP). OP B wants to scale its services for the region covered by OP A by using OP A's edge infrastructure.

2.
User belongs to the OP B. 

3.
If OP B finds that the most suitable application that can serve the user is available in OP A (partner OP), then OP B requests the edge computing service from OP A (partner OP).

NOTE:
The user is referred to the subscribers who have edge service authorizations.
Based on the deployment case, it is not clear how to discover and determine the EAS(s) deployed in OP A for OP B users.
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Figure 4.x-1 Edge Node sharing scenario 

The following study is needed:

1.
How can EES discover and determine a EAS which allows (subscribers of OP B) to avail its services?
2.
In case a EAS (in the edge hosting environment of the operator B) serving UE’s AC, needs to be relocated, how to discover a T-EAS (e.g. moving from OP B service area to a OP A service area) that can continue serving the UE’s AC?
NOTE:
The key issue assumes OP A and OP B has the same Edge Computing Architecture (i.e. EDGEAPP).

* * * End of Change * * * *
